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M.A./M.Sc. (First Semester)
EXAMINATION, Dec. - Jan., 2021-22

GEOGRAPHY
Paper Second
(Climatology)

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass marks  : 16


Note : Attempt all the sections as directed.



(Section - A)



(Objective/Multiple Choice Questions)

(1 mark each)



Note : Attempt all the Questions.



Choose the correct answer.

P.T.O.
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1. 

(A) 

(B) 

(C)  

(D) 

The Highest amount of Gas present in the Atmosphere:

(A) Argon (Ar)

(B) Oxygen (O2)

(C) Carbon di-oxide (CO2)

(D) Nitrogen

2. 

(A) 

(B) 

(C)  

(D) 

Increase in temperature with height is called?

(A) Range of Temperature

(B) Radiation

(C) Inversion of Temperature

(D) Low Temperature
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3. 

(A) 

(B) 

(C)  

(D) 

Solar energy is Radiated from:

(A) Magnetosphere

(B) Core

(C) Photoshere

(D) Chromosphere

4. 


(A) 

(B) 

(C) 

(D) 

Which symbol did Koppen use for dry climate?

(A) A

(B) B

(C) C

(D) D
P.T.O.

[4]

F - 174

5. 

(A)   

(B) 

(C) 

(D)   

Ozone depletion may lead to:

(A) Water shortage

(B) Occurrence of skin cancer

(C) Forest Fire

(D) Resurgence of water borne diseases

6. 

(A) 

(B)  

(C)  

(D)  

Which of the following is responsible for acid rain?

(A) Carbon - mono - oxide

(B) Sulfuric Acid

(C) Nitrogen - oxide

(D) Ozone gas
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7.          


(A)  

(B)  

(C)  

(D)  

More relative humidity and high temperature round the
year are main characteristic of which climate:

(A) Equatorial climate

(B) Mansoom climate

(C) Mediterranean climate

(D) Stepe Grassland

8. 


(A)  

(B) 

(C) 

(D) 

The 'carbon - dioxide theory' of climatic change was
presented by:

(A) T.C. Chamberline

(B) Arthor Holmes

(C) Solberg

(D) Kennelly

P.T.O.
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9. 

(A)  

(B) 

(C) 

(D) 

Which of the following place does not have desert
climate:

(A) Middle Californian

(B) Middle chili

(C) Jaisalmer

(D) Sahara

10. 

(A)   

(B)  

(C)   

(D)   

The last great ice age existed in?

(A) Triassic period

(B) Miocene period

(C) Plestocens period

(D) Pleiocene period
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11. 

(A) 

(B) 

(C) 

(D) 

The pressure system with low pressure at the centre is
called?

(A) Depression

(B) Front

(C) Cyclone

(D) Anticyclone

12. 

(A) 

(B) 

(C) 

(D) 

Tropopause is situated -

(A) Between Stratosphere and Mesosphere

(B) Between Mesosphere and Ionosphere

(C) Between Ionosphere and exosphere

(D) Between Troposphere and stratosphere

P.T.O.
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13. 

(A)  

(B)  

(C)  

(D)  

Dark cool area is called.

(A) Solar Flares

(B) Solar wind

(C) Hot and bright areas

(D) Sunspots

14. 

(A) 

(B)  

(C) 

(D) 

What is an abnormally warm current near the coast of
peru?

(A) Equatorial current

(B) EL Nino

(C) Peru Current

(D) None of these
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15. 

(A) 

(B)         


(C)     

(D)  

Which of the following causes acid rain?

(A) Abnormally varriations in composition of gases in
the atmosphere.

(B) Excess in greenhouse gases emission from
tropical forest.

(C) Washout sulfuric acid by precipitation.

(D) Excess carbon dioxide in the atmosphere

16. 

(A) 

(B) 

(C) 

(D) 

The mediterranean type of climate receives most of its
precipitation during?

(A) Spring

(B) The whole year

(C) Winter season

(D) Summer season

P.T.O.
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17. 

(A)  

(B)  

(C)  

(D) 

When the wind is deflected due to the rotation of Earth it
is known as -

(A) Forced wind

(B) Accidental wind

(C) Geostrophic wind

(D) Planetary wind

18.   


(A) 

(B) 

(C) 

(D)  

Which of the following gases are transparent to solar
radiation and opaque to terrestrial radiation?

(A) Oxygen

(B) Nitrogen

(C) Helium

(D) Carbon dioxide
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19.          


(A)  

(B)  

(C) 

(D) 

Relatively narrow bands of high velocity winds in the
upper troposphere are called?

(A) Atmospheric disturbances

(B) Antitrade wind

(C) Jet stream

(D) Huricanes.

20. 


(A)        
 

(B) 


(C) 


(D)       


P.T.O.
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Which one of the following is the correct sequence of
surface components of pressure and wind from the poles
to the equator.

(A) Polar easterlies, westerlies, subtropical highs, Trade
winds.

(B) Subropical highs, westerlies, polar easterlies, Trade
winds.

(C) Polar easterlies, Trade winds, westerlies, Subtropical
highs.

(D) Trade winds, subtropical highs, westerlies, polar
easterlies.



Section - B



(Very Short Answer Type Question)

(2 marks each)

 


Note : Attempt any eight questions. Write your answer
using 2-3 sentences only.

1. 

What is Acid Rain?
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2. 

What is Green House effect?

3. 

What do you mean by Temperature Inversion?

4. 

What is ferrel cell?

5. 

What do you mean by Precipitation Effectiveness.

6. 

What is Pustaz?

7. 

What do you mean by Urban Climatology.

8.   

What do you mean by applied climatology?

9.   

Define warm air mass.

10. 

What do you mean by Air Pressure?

P.T.O.
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

Section - C



(Short Answer Type Question)

(3 marks each)

 


Note : Attempt any eight questions. Write your answer using
<75 words.

1. 

Write the scope and object of Climatology.

2. 

Write the meaning and importance of the Atmosphere.

3. 

What is the influence of Coriotis forces on Indian
mansoon?

4. 

What is Heat Balance?

5. 

How does Jet Stream affect the Indian Mansoon?
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6. 

Describe the weather characteristics of Temperate cyclone?

7.    

Describe the characteristics of planetary winds.

8. 

Explain the difference between EL Nino and La Nino

9.   

Describe in brief about mediterranean climate.

10.      

Write the effect of Global warming.



Section - D



(Long Answer Type Question)

(5 marks each)

 

Note : Attempt any four questions. Write your answer using
<150 words.

1.  

Describe the Horizontal distribution of temperature over
the earth's surface.
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2.     

Explain the concepts of origin of mansoon.

3.       

Give an account of the Thornthwaite classification of world
climate.

4. 
 

Discuss the consequences of clime imbalance occur-
ring over the Earth in the present times.

5.      

Discuss the evidences of Climatic Changes.

6.      

Explain the primary circulation of the atmosphere.


